ME)/LE Body/Cabin

New applications for existing MEYLE parts

September 2016

Cabin air filter 7123200013
Notes
Height [mm] 40
Length [mm] 226
Width [mm] 277

Activated Carbon Filter

Filter Insert
New applications

FORD USA Edge (08/15--)

Wulf Gaertner Autoparts AG - www.meyle.com 1

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

MEYLE

Brake pad set

Notes

Brake System

Height [mm]

Number of wear indicators [per axle]
Quality

Thickness [mm]

Width [mm]

New applications

LADA Largus (03/12--)
RENAULT Espace Il (01/91-12/96)

Brake pad set

Notes

Brake System

Height [mm]

Number of wear indicators [per axle]
Thickness [mm]

Width [mm]

New applications

LADA Largus (03/12--)
RENAULT Espace 11 (01/91-12/96)

Wulf Gaertner Autoparts AG - www.meyle.com

Front Axle

TRW

64,6

2

PREMIUM

18,1

100

incl. wear warning contact
with anti-squeak plate

Front Axle

TRW

64,6

2

18,1

100

incl. wear warning contact
with anti-squeak plate

Brakes

New applications for existing MEYLE parts
September 2016

p<) 025214 6318/PD
~NOA I3

RENAULT Rapid/Express Pick up
RENAULT Sandero (12/07--)

025214 6318/W
~NOA I3

RENAULT Rapid/Express Pick up
RENAULT Sandero (12/07--)

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

MEYLE

Brake pad set

Notes

Brake System
Height 1 [mm]
Height 2 [mm]
Thickness [mm]
Width [mm]

New references
FORD

New applications
FORD Fiesta IV / Puma (08/95-06/02)

Brake pad set

Notes

Brake System
Height [mm]
Thickness [mm]
Width [mm]

New references
DACIA

RENAULT

New applications
RENAULT Megane IV (11/15--)

Wulf Gaertner Autoparts AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.

Front Axle

ATE

62,5

67,3

17,6

156,4

excl. wear warning contact
with anti-squeak plate

1359 884

Front Axle

TRW

52,6

17,3

116,5

excl. wear warning contact
with anti-squeak plate

7701209164
8671016692
7701209164
8671016692

Brakes

New applications for existing MEYLE parts

September 2016
025 234 4017

2X

FORD KA1 (09/96-11/08)

025 2397317

LX



http://www.meyle.com

MEYLE v
New applications for existing MEYLE parts

September 2016

Brake pad set p<) 025239 7317/PD
Notes

Front Axle
Brake System TRW
Height [mm] 52,6 lf X
Quality PREMIUM
Thickness [mm] 17,3
Width [mm] 116,5

excl. wear warning contact Cr 1

with anti-squeak plate L (| J

with screws

New references

DACIA 7701209164
8671016692
RENAULT 7701209164
8671016692

New applications
RENAULT Megane IV (11/15--)

Wulf Gaertner Autoparts AG - www.meyle.com 4

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

MEYLE

Steering

New applications for existing MEYLE parts
September 2016

Axial rod

Notes

Length [mm]
Thread Measurement 1
Thread Measurement 2

New applications
AUDI A6 (4F2, 4FH, 4F5) (05/04-08/11)

Axial rod

Notes

Length [mm]
Thread Measurement 1
Thread Measurement 2

New references
LAND ROVER

New applications
LAND ROVER Freelander Il (10/06--)

Tie rod assembly

Notes

Paired article numbers
Thread Measurement 1
Thread Measurement 2

New applications

AUDI A3 (8V1, 8VS, 8V7, 8PA) (04/12--)
VW CC (11/11-)

Wulf Gaertner Autoparts AG - www.meyle.com

Front Axle Left
Front Axle Right
226

M16x1,5
M16x1,5

Front Axle Left
Front Axle Right
315

M16x1,5
M18x1,5

LR0O16869

Front Axle Left
116 0300019
M12x1,5
M16x1,5

116 031 0023

716 031 0010

b g

116 030 0018

VW Golf VII (08/12--)

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

MEYLE

Steering

New applications for existing MEYLE parts

September 2016

Tie rod assembly

Notes

Paired article numbers
Thread Measurement 1
Thread Measurement 2

New applications

AUDI A3 (8V1, 8VS, 8V7, 8PA) (04/12--)
VW CC(11/11-)

Tie rod assembly

Notes

Manufacturer Restriction
Paired article numbers
Thread Measurement 1
Thread Measurement 2

New applications
BMW 3 (F30, F31) (10/11--)

Tie rod assembly

Notes

Manufacturer Restriction
Paired article numbers
Thread Measurement 1
Thread Measurement 2

New applications
BMW 3 (F30, F31) (10/11--)

Wulf Gaertner Autoparts AG - www.meyle.com

Front Axle Right
116 030 0018
M12x1,5
M16x1,5

VW Golf VII (08/12--)

Reinforced Version
Front Axle Left

ZF

316 030 0018/HD
M14x1,5

M18x1,5

Reinforced Version
Front Axle Right
ZF

316 0300017/HD
M14x1,5

M18x1,5

116 030 0019

(0) 316030 0017/HD

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

M E )/ L E Steering

New applications for existing MEYLE parts

September 2016

Tierod end 116 020 0025
Notes

Front Axle Left
Length [mm] 94
Paired article numbers 116 020 0026
Thread Measurement 1 M12x1,5
Thread Measurement 2 M16x1,5
New applications
VW Passat (A32) (04/11-12/14)
Tierod end 116 020 0026
Notes

Front Axle Right
Length [mm] 94
Paired article numbers 116 020 0025
Thread Measurement 1 M12x1,5
Thread Measurement 2 M16x1,5
New applications
VW Passat (A32) (04/11-12/14)
Tie rod end 116 020 0029/HD

(-

Notes \@

Reinforced Version

Front Axle Right
Length [mm] 206
Paired article numbers 116 020 0030/HD
Thread Measurement 1 M12x1,5
Thread Measurement 2 M16x1,5
New applications
AUDI A6 (4F2, 4FH, 4F5) (05/04-08/11)
Wulf Gaertner Autoparts AG - www.meyle.com 7

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

M E )/ IL E Steering

New applications for existing MEYLE parts
September 2016

Tie rod end 116 020 0030/HD

Notes

Reinforced Version

Front Axle Left
Length [mm] 206
Paired article numbers 116 020 0029/HD
Thread Measurement 1 M12x1,5
Thread Measurement 2 M16x1,5
New applications
AUDI A6 (4F2, 4FH, 4F5) (05/04-08/11)
Wulf Gaertner Autoparts AG - www.meyle.com 8

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

MEYLE
New applications for existing MEYLE parts

September 2016

Ball joint 716 0100014
Notes

Front Axle Left

Front Axle Right

Lower
Cone Size [mm] 18 i
Length [mm] 83 » st
Thread Size M14x1,5

with accessories --""‘= e &

New applications
VOLVO C30 (10/06-12/12)

Ball joint 716 0100017
Notes
Front Axle Left
Front Axle Right
Lower
Cone Size [mm] 21
Thread Size M14x1,5

with accessories

New applications
VOLVO C30 (10/06-12/12)

Control arm 116 050 0112/HD
Notes
Reinforced Version
Front Axle Left
Bore @ [mm] 17
Paired article numbers 116 050 0113/HD
Aluminium
Control Arm

with rubber mounting

New references
PORSCHE 8K0407 151F

New applications
PORSCHE Macan (02/14--)

Wulf Gaertner Autoparts AG - www.meyle.com 9

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

MEYLE
New applications for existing MEYLE parts

September 2016

Control arm 116 050 0113/HD
Notes

Reinforced Version

Front Axle Right
Bore @ [mm] 17
Length [mm] 351
Paired article numbers 116 050 0112/HD

Aluminium

Control Arm

with rubber mounting

New references
PORSCHE 8K0 407 152 F

New applications
PORSCHE Macan (02/14--)

Control arm 116 0500125
Notes

Front Axle Left
Paired article numbers 116 050 0126

Control Arm

Sheet Steel

with rubber mounting
without ball joint

New applications
VW Golf VI (5K1, 517, AJ5) (10/08-11/13)

Control arm 116 0500126
Notes

Front Axle Right
Paired article numbers 116 050 0125

Control Arm

Sheet Steel

with rubber mounting
without ball joint

New applications
VW Golf VI (5K1, 517, AJ5) (10/08-11/13)

Wulf Gaertner Autoparts AG - www.meyle.com 10

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

MEYLE
New applications for existing MEYLE parts

September 2016
716 050 0031/HD

Control arm

Notes
Reinforced Version
Front Axle Left
Paired article numbers 716 050 0032/HD
Thread Size M14x1,5
Control Arm
Sheet Steel
with ball joint
with rubber mounting

New applications
VOLVO C30 (10/06-12/12)

Control arm

Notes

Reinforced Version

Front Axle Right
Paired article numbers 716 050 0031/HD
Thread Size M14x1,5

Control Arm

Sheet Steel

with ball joint

with rubber mounting
New applications

VOLVO C30 (10/06-12/12)

Wulf Gaertner Autoparts AG - www.meyle.com 1
The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

MEYLE

Suspension

New applications for existing MEYLE parts

September 2016

Control arm

Notes

Paired article numbers
Thread Size

New applications

VOLVO C30 (10/06-12/12)

Control arm

Notes

Paired article numbers
Thread Size

New applications

Reinforced Version
Front Axle Right
Lower

716 050 0036/HD
M14x1,5

Control Arm

Sheet Steel

with ball joint

with rubber mounting

Reinforced Version
Front Axle Left

Lower

716 050 0035/HD
M14x1,5

Control Arm

Sheet Steel

with ball joint

with rubber mounting

0) 716 050 0035/HD

VOLVO C30 (10/06-12/12)

Wulf Gaertner Autoparts AG - www.meyle.com 12

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

MEYLE
New applications for existing MEYLE parts

September 2016
Control arm bushing 100 407 0015
Notes
Front
Front Axle Left
Front Axle Right
Lower
Height [mm] 54
Inner diameter [mm] 12
Outer diameter [mm] 33
New applications
VW Passat (3B_) (08/96-08/05)
Control arm bushing 100 407 0043
Notes
Front Axle Left
Front Axle Right
Lower
Rear
Height [mm] 41
Inner diameter [mm] 13
Outer diameter [mm] 60
New applications
VW Passat (3B_) (08/96-08/05)
Control arm bushing 100610 0034
Notes
Front Axle Left
Front Axle Right
Rear
Height [mm] 50
Inner diameter [mm] 14
Outer diameter [mm)] 64
New applications
VW Golf VI (5K1, 517, AJ5) (10/08-11/13)
Wulf Gaertner Autoparts AG - www.meyle.com 13

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

MEYLE

Suspension

New applications for existing MEYLE parts

September 2016

Shock absorber

Notes

Housing Diameter [mm]

New applications
AUDI Q3 (8U) (06/11-)

Shock absorber
Notes

Paired article numbers

New applications
TOYOTA RAV 4 1V (12/12-)

Shock absorber

Notes

Paired article numbers

New applications
TOYOTARAV 41V (12/12-)

Wulf Gaertner Autoparts AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.

Front Axle

55

Gas Pressure
Suspension Strut
Twin-Tube

Front Axle Left
30-26 623 0015
Gas Pressure
Suspension Strut
Twin-Tube

Front Axle Right
30-26 623 0014
Gas Pressure
Suspension Strut
Twin-Tube

126 623 0055

30-26 623 0014

30-26 623 0015

14


http://www.meyle.com

M E )/ L E Suspension

New applications for existing MEYLE parts
September 2016

Shock absorber 30-26 725 0002

Notes

Rear Axle
Bottom eye
Gas Pressure
Top eye
Twin-Tube
New applications
TOYOTA RAV 41V (12/12--)
Wulf Gaertner Autoparts AG - www.meyle.com 15

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

